@/ i @ fire desimaler, (;r;zallsg:;srrekkef@lge med

StudentName: ExamDate: ~ ExamScore:
(3,3+6,9)x6,7-6,6= 153,7+3,5)+5=

(6,7—5,7)x3,8+3,1= 2,8+2,3(6,3—3,5)=

12(2,8 = 5,8)+2 = (5,3+3,6)x2,1+4,1=
8+4—-6,5)x4,4= 3+6,8)x3,2—-2,1=
24+-6—-2,3)x2,7= 9+3+6,1)x5,3=
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@/ i @ fire desimaler, (;r;zallsg:;srrekkef@lge med

StudentName: ExamDate: ~ ExamScore:
(3,3+6,9)x6,7-6,6=061.74 15(3,7+3,5)+5=21.6
(6,7—5,7)%3,8+3,1=6.9 2,8+2,3(6,3—3,5)=9.24
12(2,8 = 5,8)+2=-18 (5,3+3,6)x2,1+4,1=22.79
(8+4—-6,5) x4,4=-1938 3+6,8)x3,2—-2,1=29.26
(24+6—-2,3)x2,7=4.59 9+3+6,1)x5,3=48.23
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